(2) BOD, COD, ®%#,. 2. 2. /=17 =/ —/LOREEUERERIRN
7 OBRBEHEUEE G

a BODG@JJI (BT mg/L)

ERSH T BRELYE 4 B SR 24 i E 25 A B
K4 S WA = 75%E | = W A ¥ 75%fiE
FEIBI (1) [ A |13 11712 = 9 1.s5]1o] 12,712 = 100] 1.2
) R B 1.4 12712 = 100] 1.6 1.2 12 712 = 100l 1.3
k) R TEH 5 A Jo7] 12,12 = 100 0.7 0.7 12,712 = 100 0.9
TP (1) PRI A o7 1212 = 100 0.8 J0.7] 12 712 = 100/ 0.9
)T (2) =it A Lo 12712 = 100l 1.1 Lo 12,712 = 100] 1.1
PRI Bt (1) [HHET 4 A lo7] 12712 = 100l 0.8 Jo.7] 12,712 = 100] 0.8
IR AONEESR A Jo7] 12,12 = 100 o706 12,712 = 100 0.7
MEJ| Rk G A Lol 1111 = 100l 1.1 Jo.8]| 12 712 = 100 0.9
ANEEJI(2) TS A 1.3 1212 = 100 .43 11,712 = 92 1.5
SN ] A Lol 1212 = 100] 1.2 ool 12712 = 100] 1.0
A (3) KB A JtLo]l 12712 = 100 1.2 ]09] 12712 = 100] 1.0
ESeIlER A [1Lol 12 712 = 100l 1.2 1091 12 712 = "100] 0.9
HEJILER (25 AA |05 12 712 = 100[<0.5]0.6] 12 712 = 100] 0.5
NMEZH A o6l 12 712 = 1000 0.6 J0.5] 12 712 = 100/ <0.5
DYNELG A Jos| 12712 = 100 0.7 06| 12,712 = 100] 0.7
HEJT |G A Jo7]l 1212 = 100l 0.9 Jo.7]| 12 712 = 100] 0.8
WEE A o7l 1212 = 100 0.8 0.6 12,712 = 100] 0.6
EEEQ}II% A J1s5] 10712 = 83 1.7]oo9l 12712 = 100 1.1
Lgsspll| /\ Bl A Jos| 12712 = 100 0.7 ]0.6] 12,712 = 100] 0.6
WG A Jogl 1212 = 100l 0.8 Jo.8| 10 11 = 91 1.0
e FEA TP AR B o8] 11711 = 100l 0.9 Jo.7] 10 10 = 100] 0.8
SN Eye o - mmsorsesa | A Jo.8] 11711 = 100l LoJo7] 12712 = 100] 0.7
SN FEE /NS A ool 1111 = 100 1.2]0.7] 11711 = 100] 0.9
] — B 18] 10,11 = o9l 22119l 1011 = o91f 2.2
BB R = AAJos5] 12712 = 100 0.5 Jo.5] 12712 = 100] 0.5
FEITH  EE A lo7]l 12712 = 100l 0.7 Jo.6] 12,712 = 100] 0.7
JETE)| EEE AAJo05] 12,712 = 100] <0.5]<0.5] 12 712 = 100] <0.5
H R WA A Joe| 11711 = 100l 0.6 Jo.6] 11 11 = 100] 0.8
HEII S A Jose6| 12712 = 100 0.5 J0.6] 12712 = 100] 0.6
eI A A 0.7 9,9 = 100 0.8 J0.8] 12712 = 100] 0.9
Rl WG A Josg] 1010 = 100 0.9 o8] 11711 = 100] 1.1
A5 )| HE TG A 1.4 9,10 = 90 1.4 )10 11 /712 = 92| 1.1
TR [N A o9 12 712 = 100l 1.0 Jo.8] 12 712 = 100] 0.8
)l B A o512 712 = 100l 0.5 0.6 12 712 = "100] 0.5
HIHER) 1 TR KAB A |<o.5] 12 712 = 100]/<0.5]0.6] 12712 = 100] <0.5
Rl HEAE A 0.9 7,7 = 100l 1.oJo.7] 12,712 = 100] 0.8
AR E NG A Jose] 12712 = 100 0.7 0.6] 11,711 = 100] 0.5
NG NG A J12] 1212 = 100l 1.3 Jo.8| 11 711 = 100 1.1
B /B A ool 12712 = 100 1.oJos8]| 11711 = 100] 1.0
LBl LRl A Jo7] 1212 = 100/ 0.8 J0.7] 12 712 = 100 0.8
ol KNG A Jos5] 1111 = 100 0.5 Jo.6] 12,712 = 100] 0.6
= = )14 A Jos] 11711 = 100] 0.5 |<o.5] 11 /11 = 100] 0.5
FHEAI AR A o7 1010 = 100 0.8 J 1.0 11712 = 92 0.7
13201 1) 1A A Jo7] 1111 = 100l 0.8 Jo.6]| 12 712 = 100] 0.5
KFI O A .21 1011 = 91| 1.oJos5]| 12,712 = 100 €0.5
Bl G A Jo7]l 1010 = 100l 0.8 Jo.8| 12 712 = 100] 0.9
=1 FIE A Jos5] 12712 = 100]<.5]05] 12,712 = 100] <0.5
ia=i=ZaIl ot A lo7]l 12 712 = 100 0.6 Jo.8] 11 712 = 92 0.8
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b COD (k)

(BT @ mg/L)

B GTID | BB 4 ¥ A £ e Jii3
KA iyl ) W oA D] W oA 75%(E
SRR (1) AL S A 2.8 0,/ 6 = o] 3.1 2.8 0,/ 6 = o] 3.1
5 2 A 2.7 0,/ 6 = ol 3.0 2.6 1,/ 6 = 17l 2.7
SRR (2) XX g BHAE A 2.3 1,6 = 17] 2.5 2.4 2,/ 6 = 33] 2.4
TR B HL A 2.5 0,/ 6 = o] 2.8 2.8 0,/ 6 = o] 3.2
I N NN R A 1.7 4,6 = 67| 2.1 2.1 3,/ 6 = 50| 2.3
B Hh 5t A 2.2 2,/ 6 = 33] 2.5 2.3 4,/ 6 = 67] 2.6
=TIV PN B 3.8 1 /12 = 8l 4.1 4.3 0,/ 12 = o] 4.7
faf &% W [ B 3.6 2/ 11 = 18] 4.4 4,3 1,/ 12 = 8l 5.0
18 R A B 3.7 3,/ 11 = 271 4.1 4.3 1,/ 12 = 8] 5.1
EEREN A 1.9 2,/ 4 = 50 2.1 2.4 1,/ 4 = 25| 2.4
HOR W RS A 1.7 4/ 4 = 100] 1.9 1.9 3,/ 4 = 75| 1.8
Rl A 1.6 4/ 4 = 100 1.9 1.8 3,/ 4 = 75| 1.8
1L i )1y A 1.7 4,/ 4 = 100 2.0 ] 2.0 2,/ 4 = 50| 2.2
R A 1.7 4/ 4 = 100] 1.8 1.8 3,/ 4 = 751 1.9
S 5 0E A 3.1 0,/ 12 = of 3.1 3.3 0/ 12 = 0| 3.6
V25 B A 3.3 0/ 12 = 0] 3.5 3.5 0/ 12 = o] 3.9

c AEEZNOEEE (EFE)

(223%) (HAL : mg/L)
BFRHTIID | BREEHEUESL &) i B A B
KA vl 1) WA F ) W A X

A I 0. 42 = 33 0. 45 2,/ 6 = 33
BERVE (7)) [RuErHhiL il 0. 29 = 67 0.34 4, 6 = 67
S 0.36 = 50 0. 40 6 /12 = 50
X g FHE 0. 20 = 100 0. 34 4, 6 = 67
TS (1) |EREE T II 0.23 = 83 0. 38 3,/ 6 = 50
Sy 0.22 = 92 0.36 7/ 12 = 58
VLR Hi 5 0.16 = 100 0.18 6,/ 6 = 100
woOE s | Bt II 0.22 = 83 0.23 4,/ 6 = 67
S 0.19 = 92 0.21 0/ 12 = 83
95 AR 0. 46 = 17 0.52 0,/ 6 = 0
far &% I [ i 0.41 = 17 0. 44 2,/ 6 = 33
18 R A 0.41 = 17 0.44 2,/ 6 = 33
S 0.43 = 17 0. 47 4,18 = 22
%O E 0. 30 = 67 0. 30 3,/ 6 = 50
AR 5 L I 0.33 = 33 0. 30 3,/ 6 = 50
S 0.32 = 50 0.30 6 12 = 50

(4%) (BT : mg/L)
B S TITD | BREEEESSL E] i B A B
KA, i Y WA E L) oA P

NI Y 0.031 6 = 33 0. 027 6 = 67
BRSE (7)) [kt m §o.024 6 = 83 0. 026 6 = 83
) 0.028 12 = 58 0. 027 12 = 75
XK g B 0.014 6 = 100 0. 024 6 = 83
BEEVE (1) |EREE T o f0.016 6 = 100 0. 024 6 = 83
S 0.015 12 = 100 0. 024 12 = 83
PANTR N 0.013 6 = 100 0.014 6 = 100
woOE s | Bkt m Jo.o16 6 = 100 0.018 6 = 83
S 0.015 12 = 100 0.016 12 = 92
95 AR 0. 034 6 = 33 0.029 6 = 67
faf &% I [ o f0.038 6 = 67 0. 032 6 = 67
18 R A 0. 034 6 = 50 0.035 6 = 67
S 0.035 18 = 50 0. 032 18 = 67
IRk 0. 022 6 = 83 0.018 6 = 83
AR 5 L o f0.026 6 = 83 0. 020 6 = 83
S 0. 024 12 = 83 0.019 12 = 83




d gk =17 =/ = OKELEDDOREITIRD BRI YET

~—

/

GRpJi)

(2HEEN) (B : mg/L)
AL TITO | BRETMES4 et 24 4 £ 25 e
K3k 1 WA ® ¥y WA E
s TS 0. 004 4,4 = 100] 0.003 4,4 = 100
el ) =4 EN B 0. 004 12,12 = 100] 0.004 12,12 = 100
B ERE Q) DT AmA ] 0.001 12 /12 = 1001 0.001 12,12 = 100
LR @) [BHE B | 0.003 12,712 = 100] 0.002 12,12 = 100
IR AONIEEER AHB | 0.003 4,4 = 100 0.002 4,4 = 100
)T () |=HitE AHB | 0.010 12 /12 = 100] 0.012 12,12 = 100
SIS 0. 005 12,12 = 100] 0.004 12,12 = 100
By 5 PN 0. 004 12,12 = 100] 0.004 12,12 = 100
| 7= il
AHIT R EMB [— 001 1, 4 = 100] 0.004 1 4 = 100
A E) =18 0. 005 12 /12 = 100] 0.003 12 /12 = 100
HEJI B |25 E Al 0.001 12 /7 12 = 100] 0.001 4,/ 4 = 100
ER S 0. 002 12 /12 = 100] 0.002 4,/ 4 = 100
DUNELS 0.002 4, 4 = 100] 0.001 4,/ 4 = 100
HE TR [ EEEE B | 0.003 4, 4 = 100] 0.002 4,4 = 100
BEE 0. 003 4,/ 4 = 100] 0.002 4,4 = 100
ETE 0. 009 4,/ 4 = 1001 0.009 4,/ 4 = 100
() =)v7=x/)—)) (BT : mg/L)
AL TUID | Bl s $Em 25 i
K3k N WA
e i <0.00006] 2.2 = 100
]l Lt B
) =4 <0.00006| 4 74 = 100
"i;‘}llj:‘?ﬁ(l) I8 A ]<0.00006] 4.4 = 100
I AONE 5 B [<0.00006] 272 = 100
gl T%El; %ié ifZB <0.00006| 2 ; 2 = 100
B TFR Q) [=hHitE B [<0.00006] 4,4 = 100
FEE G - / = -
y 5 PN <0.00006] 2.2 = 100
| 7= il
AHIT VR e T 7 2 = 100
A =18 <0.00006] 4 74 = 100
BEJILERE (%5 AW A 1<0.00006] 4 4 = 100
MERS <0.00006| 4 74 = 100
DUNELS <0.00006] 2 .72 = 100
BRI |G B [<0.00006] 2.2 = 100
W EG <0.00006] 4.4 = 100
IS <0.00006] 2 72 = 100
() /=T = ) — /W28 H 22 B AATBREIE SR 1277510 L 0 BB EIB S E L e,
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